Mobhiler Hubtisch 1000 kg

Mobhile lifting table 1000 kg



Bernd Siegmund GmbH
Landsberger StraBe 180
86507 Oberottmarshausen
Tel. 0049 (0) 8203 / 96 07-0
Fax 0049 (0) 8203 / 96 07-33
info@siegmund.com
www.siegmund.com

www.siegmund.com



Mobile Lifting Table

Montageanleitung - Assembly instructions - MHcTpykums 3a MoHTax - Instrucao de montagem -
Montazni instrukce - Montagevejledning - Instrucciones de montaje - Asennusohjeet

Instructions d'assemblage - Upute za montazu - Szerelési Utmutatd - Istruzioni per montaggio -
Montagehandleiding - Monteringsanvisning - Instrukcja montazu - Instru¢des de montagem -
Instructiuni de montaj - Uputstvo za montazu - NHcTpykums no cbopke - Monteringsanvisningar -
Navodilo za sestavljanje - Navod na montdZ - Montaj talimatlar - Z%$&#gm - AL THZE -

M8: 25 Nm >> Montage Tischplatte / Assembly table plate

Mit Schraubenschlissel festziehen.
3aTerHeTe C raeyeH KJou.
Utdhnéte pomoci klice.
Stram med nagle.
Pingutatav votmega.
Tighten by wrench.
Apretado con llave.
Kiristd jakoavaimella.
Serrer avec une clé.
Ydi§uo pe kheldl.
Zategnuti kljucem.
Kulcesal feszitse meg.
Serrare con chiave.
Priverzkite verZliarakciu.
Aandraaien met een sleutel.
Stram til med fastngkkel.
Przykreci¢ kluczem.
Aperto com chave.
Strangeti cu o cheie.
Zategnuti kljucem.
3aTAHYTb KITIOYOM.

Spann &t med skiftnyckel.
Priviti s kljucem.

Utiahnite klucom.

3 |2[e 2]z ]3|=]=|3]z]= [z |z|a]z]=|0]z]alz]a 2 ]= @

Anahtarla sikmak.

www.siegmund.com 3



1] siegmund®

4 www.siegmund.com



siegmund® | 2

www.siegmund.com 5



Tools

System 28 Premium Light
804014.XD7

12X




A1

Tools

@ © & & © O c o 0
00m000000090m.0

eeb’Jooeeaeoaek‘B
o0 @

(-]
-]
o 0o
<
Qo0
(=3
[~ K~
(-]
-3 -]
(=3
o 0
-]
(=K -]
o 0 0 0 0
2 - -]
00 0 C 0 0C 00
o QO
0 00 000000
o 0
0o 0
o o
[=X-2+]
0o 0O
o9

(.}
L]
°

-]
o
e
o

e o
0999000000

L]
o
-]
o
o

(=]
e o
(=]
(=]
[~]
o

(-]

[+]

o

[+]

-]
[+]
(=]
[+]

(=]
(+]
o

8
Q
o

e e
(+]

[}
[ ]
o
[ ]
-]
o
=]
OOOOOOOOOO
<
[}
<
[+] o
(=3
[«]
(=]
©

[ ]
[+]
Q

i

12x

BN

L1

www.siegmund.com




www.siegmund.com



Tools

System 28 Premium Light
804044.XD7

8x




10

www.siegmund.com



www.siegmund.com

11



Tools

System 16
164014.X7

12X




*
-]
-]
o
-]
(-]
o
-]
o
oo
o
o
(-]
o
-]
°
o
o

)

oooooooooovbvn.

(o)

Tools

©000000000000000000O0 O
©0000000000000000000 O
©000000000000000000O0 O

www.siegmund.com

13



14

www.siegmund.com



Tools

System 16
164044.X7

12X




16

www.siegmund.com



Tools

12x

www.siegmund.com

17



Tools

System 16
161035.P

12X

!







20

12X

Tools

20

oJoJoJoJoJolo]oJoloo]o]a
olole]ololo]o]olo]o

0000000000000000000O0 000 0 9

( (] ]

EE..‘BEIDHEE!EIEI
jo|dojojo{efolojofo]o

——

0000000000000000000
U _a ]

o000

| 2

www.siegmund.com

o HGGDBGHBBHBCUDBGL}B

12x




System 16 160035.P

Feststellen der Version / determine version

Bis 2023, siehe Seiten 22 + 23 /
Until 2023, look at pages 22 + 23

Ab 2023, siehe Seiten 24 + 25/
since 2023, look at pages 24 + 25

g

]

21



TEILE / PARTS

SYSTEM 16

00002967

00002963

160035.P
ERP 16002440

00004062

ISO 4017
M14 x 30

v

00004061

ISO 7089
14

1x 4x 4x
WERKZEUGE / TOOLS
< ®)
-
-
&) &
J >5mm

B

[

Stand: 12-2022

22

www.siegmund.com



TOOLS

4x

Stand: 12-2022




TEILE / PARTS

SYSTEM 16

00002963 00002967

160035.P
ERP 16002440

1x

00004062

ISO 4017
M14 x 30

v

4x

00004061

ISO 7089
14

4x

WERKZEUGE / TOOLS

I >5mm

Stand: 02-2023

24

www.siegmund.com




TOOLS

4x

Stand: 02-2023

25



Mobiler Hubtisch 1000 kg
Austausch des Hubzylinders

Mobile lifting table 1000 kg
Exchange of the lifting cylinder

Mit  Schraubschliissel ~ festziehen - Tighten by wrench - 3aterHete ¢ raewed Koy - Utdhnéte
pomoci  klice - Stram med negle - Pingutatav vitmega - Apretado con llave - Kirista
jakoavaimella - Serrer avec une clé - Ioifipuo pe kAedl - Zategnuti kljucem - Kulccsal feszitse meg - Ser-
rare con chiave - Priverzkite verzZliarakéiu - Aandraaien met een sleutel - Stram til med fastngkkel

Przykreci¢  kluczem - Aperto com chave - Strangeti cu o cheie - Zategnuti kljuéem - 3aTaHyTb
kmoyom - Spann dt med skiftnyckel - Priviti s kljuéem - Utiahnite kli¢om - Anahtarla sikmak
Handfest - Bitte nicht festziehen - Hand-screwed - please do not tighten - PbyHO 3aBMHTBaHe
- Mofisl, He 3aTdraiiTe ¢ nomouleH  MHCTpymeHT - Rucné  zaSroubovano - prosim  nedotahujte

- Handskruet - stram venligst ikke - Kasitsi kinnitatav - arge kinnitage jouga - Enroscado a mano - no apretar - Kasikireys
- ei saa kiristda tyokalulla - Serré a la main - Ne pas serrer - BLOWOTe e T0 X€pL - TapakaAoUe Unv odiyyete - Rucno
zategnuti - ne prejako - Kézi rogzités - ne hlzza meg erésen - Awvitare a mano - non serrare forte - Rankinis prisuka-
mas - prasome neuzverzkite - Aandraaien met de hand - niet te vast aandraaien - Hand skrudd, ikke stram til - Przykre-
ci¢ recznie - prosze nie dokreca¢ - Aperto manual - por favor ndo force o aperto - Insurubat manual - va rugdm s& nu
strangeti - Ru¢no zavrnuti - molimo vas da ne preteZete - 3aBUHYMBATL BPYYHYIO - He 3aTaruBaTh - Handskruvad - spann
inte at - Rocno priviti - prosim ne zategujte - Rucné naskrutkovanie - prosim, neutahuijte silou - El vidali - lutfen sikmayin

Bernd Siegmund GmbH
Landsberger StraBe 180 | 86507 Oberottmarshausen | Germany (Bavaria) | Phone 0049 (0) 8203 /96 07 -0 | Fax 0049 (0) 82 03 / 96 07 - 33
info@siegmund.com | www.siegmund.com

All texts, pictures and design elements are copyrighted by the Bernd Siegmund GmbH. No part of this flyer may be edited analogously or digital or in another mode,
may be multiplicated or published out of the flyer without written approval of the legal owner. Offences are prosecuted.

www.siegmund.com



I:\IRI;I- * | Overview NAME QTY ERP
N1 \ ISO 10511 — M10 - verzinkt/galvanized 1 00001067
—
N2 @ ISO 7089 - 10 - verzinkt/galvanized 1 00002953
L
N3 @ ISO 7089 — 10 - Polyamid 1 00002952
/
N4 @ ISO 7089 — 12 - Polyamid 1 00002975
N5 @ ISO 7089 - 12 - verzinkt/galvanized 1 00002523
:
©
N6 ISO 7379 — 12 — M10x50 bruniert/burnished 1 00002996
O
<>
N7 ISO 7379 — 8 — M6x45 bruniert/burnished 2 00002809
O
N8 ? SO 4762 — M8x12 - verzinkt/galvanized 2 00002795
N9 ISO 7093 - 8 - verzinkt/galvanized 2 00002959
/ . . @

www.siegmund.com




¢

AN

removal of the lifting cylinder

Ausbau des Hubzylinders /

|

pump up and secure with crane
- ca. 950 mm -

Hochpumpen und mit Kran sichern /

|

www.siegmund.com



NS

Kolben reindriicken /
push piston inside

Pedal nach oben drucken /
press pedal up




T2 N7

T1

6

2X

2X

1x

&

Beideseitig /
for both sides

]

N7

www.siegmund.com



&

/N

9 @ x
r4 N

@D 4




N8







&




&

T2 N7

W 6

T

i'
C)
2X

2X

1x

/N

Beideseitig /
for both sides

]

N7

www.siegmund.com



N8

~
c
Q
Q o
€ S
> Q
£ £
oo Bl
<< o

www.siegmund.com



%?

N6
1x

1x

N5

1x

N3

N4
=
cee® |
-

1x

1x

N2

N1

&

/N

www.siegmund.com



Bernd Siegmund GmbH
Landsberger StraBe 180 | 86507 Oberottmarshausen | Germany (Bavaria) | Phone 0049 (0) 82 03 / 96 07 -0 | Fax 0049 (0) 82 03 / 96 07 - 33
info@siegmund.com | www.siegmund.com

All prices are quoted ex works excl. VAT, packing, freight and duty. Technical changes and release are reserved.
Our General Business Terms apply. Subject to price changes and printing errors.

All texts, pictures and design elements are copyrighted by the Bernd Siegmund GmbH. No part of this flyer may be edited analogously or digital or in another mode,
may be multiplicated or published out of the flyer without written approval of the legal owner. Offences are prosecuted.





